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Let's look at an expected
value for free odds betting .

Suppose you bet $10 on the

pass line and
if a point is

made then you bet
an

additional $10 as a free

odds bet . Let I be the

amount won or lost .

Let's calculate E[I ] .
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So if you follow this betting
strategy than you lose

about 144

per game in the long run



Let's now put the above in

per $1 bet" terms to compare

with our non-free odds betting

expected value . Let's see what

the average amount
bet is

with out $10 pass line/$10 free odds

betting scheme is .
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Expected value per dollar wagered is

14 -08s
$ 16 .

67

Recall that with just
$1

bet on the pass
line and no↳free odds bet the expected

value was 414



Paradox

Sesbrne 170 She

A casino offers a game to
a

single player .

A fair coin

is tossed at each stage
.

The pet (amount
worl starts

at $2 and doubles every
time

a head is flipped .

The first

time a tail is flipped the

game ends
and the player

wins whats in the pot .

How much would you pay too play

this game ? You don't yet back

What you paid , just what you win .
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Let I be the net amount wor.

E(x) = (- I amount paid) (t)(E)
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This game has infinite expected value
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